Math 1152, Exam #3, $priné 2014 Name Kg Y

Instructions: Show all wwork‘ Use exact answers unless specifically asked to round. Answers with no

|
work cannot receive full credit. Be sure to answer all the requested elements of each question.

1. List the first five te?ms of the sequences below. (6 points each)
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2. Find the limit of the sequence if it exists. If it does not, state that it diverges. (6 points each)
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3. Find the first 5 terfjns of the partial sum and find an expression for S, for the series
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4. To what value (if #ny) does the geometric series Y, ;7= 2*37" converge? If it fails to converge,
explain why. (5 points)
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5. Determine if the infinite series converge or diverge. Explain your reasoning, and which test you

used to determine jit. (8 points each) K
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6. Determine if the alternating series converges conditionally, absolutely or diverges. Explain your
reasoning. (7 points each)
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7. Find the minimum jnumber of terms that would be needed to approximate each series to better

than three decimal places accuracy (i.e. R<0.001). (8 points each)
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8. Find the first 4 non ze‘r% terms for the Taylor polynomial that approximates y = sinh(x). [Note:

there is at least two ways to do this that we have learned. You may use either method.] (10
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9. Rewrite the expressiony = as a power series. (10 points)
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10. Given that the Taylor series for €* = }.7° ¢ o use this fact to write the function e ™" as a

o
power series and find an expression for the integral f e " dx. (10 points)
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11. What is the maximum error for the Taylor polynomial In(1 + x) ~ x + + + on the
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